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F886 Mark Scheme June 2011
MARKING INSTRUCTIONS

PREPARATION FOR MARKING
1. Make sure that you have accessed and completed the two training packages for on-screen marking:
a. On-screen marking training
b. OCR essential guide to marking
2. Make sure that you have accessed and are familiar with the mark scheme for this unit on the RM Support Portal.

3. Mark the 10 practice scripts and the 10 standardisation scripts.

YOU MUST MARK TEN PRACTICE AND TEN STANDARDISATION SCRIPTS BEFORE YOU CAN BE APPROVED TO MARK.

MARKING

1. Mark strictly to the mark scheme.

2. Marks awarded must relate directly to the marking criteria

3. The schedule of dates is very important. It is essential that you meet the 50% and 100% marking deadlines. If you experience problems, you

must contact your Team Leader (Supervisor) without delay.

4. If you are in any doubt about applying the mark scheme, consult your Team Leader by telephone or the messaging system, or by email.

5. Work crossed out should NOT be marked.

6. There is a NR (No Response) option. Award NR (No Response) if there is nothing written at all in the answer space OR - if there is a comment
which does not in anyway relate to the question (e.g. ‘can’t do’, ‘don’t know’) OR - if there is a mark (e.g. a dash, a question mark) which isn’t
an attempt at the question. Note: Award 0 marks — for an attempt that earns no credit (including copying out the question).

7. The comments box is used by your team leader to explain the marking of the practice scripts. Please refer to these comments when
checking your practice scripts. Please do not use the comments box for any other reason.

For any questions or comments you have for your team leader use phone, the messaging system or e-mail.

8. If you have any technical difficulties please refer to the Instructions for On-Screen Marking from Home.

9. Abbreviations, annotations and conventions used in the detailed Mark Scheme
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Mark Scheme

Annotation

Meaning

Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the question)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Present tense correctly used

-

Accurate language

SEIEIHEEHERE gl s A

-

Inaccurate language

Abbreviations Meaning

/
()

Alternative and acceptable answers for the same marking point
Words which are not essential to gain the mark

Underlined words must be included to gain the mark

June 2011
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MARK SCHEME

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in

order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen.

A suggestion for making a slightly more user friendly version of this Mark Scheme would be to put the pages in plastic pockets in a ring binder,
making sure that the answers and appropriate grids are opposite one another, then you don't need to flip backwards and forwards.
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Section A: Listening and Writing

Exercise 1:
Task specific guidance:
Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

For single mark questions no annotation is necessary just enter 1, 0 or NR.

There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the
mark or when a word in the response invalidates an otherwise acceptable answer.

You may also use the highlighter tool to show harmless additions.

Answers in Persian get no marks.

Mark Scheme June 2011

Question Answer Marks Guidance
[6]
a) (By) email / Internet 1
b) (General knowledge) book / encyclopaedia 1
c) They are electronic / by computer / online / 1 sl Jpad BB S lE g s MRS e ghs L] i
cheaper / faster
Do not accept ‘electric(al)’.
d) Hard cards to electronic ones. (or) She likes real / 1 U [ - R L P 1= | PP PN -1
normal cards.
e) They should not have to pay for our greetings to them! 1
f) She found: a (forgotten) poem / lyric(s)/song on the 1
Internet (or) the rest of a poem ...
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Exercise 2:

Mark Scheme

Task specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

e For single mark questions no annotation is necessary just enter 1, 0 or NR.
e There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the

mark or when a word in the response invalidates an otherwise acceptable answer.
¢ You may also use the highlighter tool to show harmless additions.

June 2011

Question Answer Marks [22] Guidance
a) 2y et Al ) S () 1
b) ol alasl ) b e (o) 1
c) 2 g | kot ganze o ady () 1
d) e S g (D) 1 L Tt e e P
e) 35 S 51 e o) oz (L) Gligee) sglSoss  (2) 1
f) (ad) sajplos (2) 1 sl Sy Jlh i 8
g9) ki lgea )yl sl o B (gD 1 ] Jped ll gt ilar b e g oy 450 4 gle LS a
h) T U e 1 e 1 il o g 0 ay
i) Bk pr dogy e 6330 4 25, o aalind 4F e Pols  (F) 1 T L e e N T T Y
U2 pralimtf gl silesr pr® (L) agy L85 205 sleadl e
i) Ao} cillie (0D 1
k) ol gl ki 4F 5 e Sh g (3) 1 ol e b asly o) il i gLt oF | glilesr 0
) ety oS b () 1
m) ¥y 025 5 1) 1
n) ailasti ans o (l) ik 5ok s (b) S e i () 1
g ge B salyils ) e i 1 iliga Gl 1
o) dsly Sgama b () 1
P) 2 g dule dmale 1y 1 e ez () 1
a) oy pom b ol gl jalf gama | pmtu dpe (@) 1 el Jge JAB Glign i dun Ll ey gl L) pa
r) s e a1 ) e () 1
s) U I R A 1) R PET JE - P N PN SN PPy 1
H pliml g o e i el (1) 1
u) i o 81 1 S0 sialyd e () 1
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QWC: Read response again and assess for language.

¢ Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not
essential.

e Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band
which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.

GRID | QUALITY OF LANGUAGE — ACCURACY
C.2 10 marks AO3

Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

0-2 nouns). Frequent first language interference.

Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,
3-4 adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly
influenced by the candidate’s first language.

Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct

56 use of complex sentence structures. The performance is likely to be patchy and inconsistent.

Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex

7-8 . . .
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

Note: Assessment of Quality of Language in Exercise 2 will be based on Questions (b), (h), (j) as follows:
Upto3errors = 10 marks
Upto5errors = 9 marks
Upto7errors = 8 marks
UptoQerrors = 7 marks
Upto12errors = 6 marks
Upto 15errors = 5 marks
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Section B: Reading and Writing

In Section B there are 10 marks for Quality of Language.

Note:
Assessment of Quality of Language in Section B will be based on:
Exercise 7: Questions (a) and (c)
Exercise 10: Question (e) Example:
Exercise 11: Questions (a) and (c) ‘ o ‘ ,
A total of ‘772 marks’ will be rounded up to ‘8 marks’.
For each error identified by the symbol 2 mark will be deducted.

Exercise 3:

Question Answer M[a7r;(s Guidance
1 - 1
2 wall 1
3 e 1

Multi-choice
4 — 1 Marks entered individually. No need for annotation.
Enter 1, 0 or NR as appropriate.

5 - 1
6 o] 1
7 it 1
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Exercise 4:

Question Answer M[az;']ks Guidance

a) laaca ol 1

b) Tar T 1

c) cedils a1

d) s :’L" e 1 1 mark for each correct answer

L5

€) R = ! The marks are awarded individually. No annotations are necessary.
f) W I o B

g) KCEL SR Y- (F) TR CH R AP 1

h) alanz! . 1
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Exercise 5:

Question Answer M[asr]ks Guidance
1 2 (1) 1
2 - (T) 1
No annotation is necessary. Enter 1, 0 or NR as appropriate.
4 s ) 1
5 LW 1
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Exercise 6:
Question Answer M[asr]k S Guidance
1 O PES NV S R DY
23l m;is S5 L L) e o g 8 o (T
2 1
;..._u = P = TN (P JCI P | S S + WP - Y { P
3 e P () 318 e ol () Sentence Completion
3 W G g e gl e (T) 1 Marks entered individually. No need for annotation.
Enter 1, 0 or NR as appropriate.
5 Wby ewd | 1y 39 L5 (D) 1

10
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Exercise 7:

Task specific guidance
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).

e Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Go through all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

¢ Annotations:
e Award 1, 0 or NR without annotation.
e Use atick (V') to indicate a mark awarded on any question where the answer is more than one mark.

e Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

e Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

11
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Exercise 7:

Question Answer M[?';;S Guidance
(o 5o syt 703 1) 1395 g0 4380y 5 o ) Sl s ()
ls (5 Al (s
il e i ]y 5 08
% WS plil frm st
ol il 3l i o) galoge 3 e
WSS o4 Ayl (5 ke
i gl St sletel 5 e Sy
R 1| SV INEE S P Fii-ow ) LI PR e [
STy R R el e
) and o oaliial egn Lo ] sl izl 510 1
e g 0liin] €gus 29 ek 3l o) alS] pos ) (Y 1
e g GRS 5 e el (F
SUSEL N L J-PL UL PCRER Y FRUHIW- T P 1
° ] S L 5 5] b 1
taind po o5 29 Ga | Gas lam (o 1
d) 1900 Y plasladyi 1
S o Jia ol cle a8 4 | g slaails )5 g Gl LS 5 plele 1

12
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Exercise 8: Transfer of Meaning

Award two marks per translated section according to the grid below. This grid assesses Transfer of Meaning into English. Note that this grid
integrates Quality of Written Communication Strand (i) descriptors.

TRANSFER OF MEANING

GRIDH-2 10 marks AO2
2 Accurate transfer of meaning. Faultless or virtually faultless grammar, punctuation and spelling in English.
1 Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missed details. There are instances of error in
grammar, punctuation and spelling in English.
0 Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant error in grammar,

punctuation and spelling in English.

Notes to Grid H.2
Exceptional responses and marks to award:
1. Candidates may answer in faultless English but may not transfer meaning accurately. Award either 0 or 1 mark, depending on level of
inaccuracy in meaning.
2. The transfer of meaning is accurate but contains significant spelling and/or grammar errors. Award 0 or 1 mark, depending on level of
inaccuracy of English.

Special use of annotation symbols for this exercise:

<

= Complete transfer of meaning 1 mark

Example:

Incomplete transfer of meaning Y2 mark

A total of ‘7%2 marks’ will be rounded up to ‘8 marks’.

x = Limited or no transfer of meaning = 0 mark
(L]

= Good/accurate language = 1 mark
= Inaccurate language = Y2 mark

13
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Exercise 8:

Mark Scheme

June 2011

TL

English

Reject

) 237 ge Sy i L y0 108 e pei Al

i'-.-q-ul]

Opponents of change say: a tree is also a living
being;

WSS Sy o a adlypads il AL

however, if a gardener does not look after it
caringly,

g ailal clacd g Flo a5 Wt salghi ek

s a1, 5 S5 ] bl g0 slacile

before long its life will be threatened by
overgrown branches and the weeds around it.

anm 'ﬂsl l;qﬂull L.‘-;‘EJ-'{'l '.ELE,LJH'J,J iﬂh:--'ll":,ab ﬁl Ls].ﬁﬂ.};.n

] By Lo

The fruits of this “tree” are the moral lessons that
have been passed on to us

E3len 3 gmg

from the great Persian-speaking poets, such as
Hafez, Sa'di, Ferdowsi and Moulavi.

14

Total: 10 marks
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Exercise 9:
Question Answer M?Sr]k S Guidance

a) (olesla) 25yl sl | 1

b) w2 sl el () sael Glpl e QBB (o e oo 1

Sentence Completion
anls azsla il | F) JUCL SN S N

©) ' JFH () 4 ¥ 1 Marks entered individually. No need for

d) ‘J; ealiznl b |; (L) S g0 Lr*“Jl-é" .j'aj. a;.'g - 1 annotation. Enter 1, 0 or NR as appropriate.

e) el (Dol | gladis, [ &l 1

15
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Exercise 10:
Question Answer M[a7r]k ® | Guidance
(L) plafn® g 7 b wlal 2 b plulid () g Sloogas ax (el Sl Glpe 4 Lo a5 00l 2l
3) oler ol 325 g le mi g (u)l |
b) B elreyly ol Jgluca (L) A o8 | 1
c) O 8 e [ aslsi () Ol 0 G855 |
d) il slacsly 558 e ojlgs |
e) ole SLaS jlgoly et (L) pale 4y Logy po (slaely ogndl (L) 355 (L) pyme ] 1
f) dpdign ol plimsulf ol Sl (L) wS (0 53k () pusails (L) 5ied 00 2| 1
(L) cals malys suge 5 55 ) Ol (Gaaz f) Sy 2
9) (L) 22ls poplys (Fo) (s 2 (51 1
dile amle L

16
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Exercise 11:

Task specific guidance
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).

e Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Go through all the responses and assess every question for comprehension.

d. Marks are awarded on a point by point basis, according to the mark scheme.

e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

f. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

¢ Annotations:

e Award 1, 0 or NR without annotation.

e Use atick (V') to indicate a mark awarded on any question where the answer is more than one mark.
o Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

e Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

17
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Exercise 11:
Question Comprehension points M[?BI;S Guidance
a) ohaiy B a ol st (L) bobs | gty (il 1
b) (b ) S92 aab Hoked) Lo aiila) ()5 1 gyl SlalS 0955 (| 1
) 2 sleails; o ol geslanal (o] 1
O 3l (s ) Sy 1
d) e R e T T L G
e) duligei i ay bl plas (&)
gt St oz 1
! g, g odliinwl dilje, slrcume gl p ladd 1
9) Sl ool b B o € Gl caulS e (g 1
h) RCI -1 S | TR PN P Ve S PR el

18
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Assessing Quality of Written Communication across Section B

a.

You will get a separate screen which will be the whole page for exercise 4, 5, 6, 7, 9, 10 and 11 (unannotated). Read all the answers
again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not
essential.

Apply Grid C.2 and enter the mark.

PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language.

GRID | QUALITY OF LANGUAGE - ACCURACY
C.2 10 marks AO3
0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns).
Frequent first language interference.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival
3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced
by the candidate’s first language.
5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use
of complex sentence structures. The performance is likely to be patchy and inconsistent.
7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.
9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

19
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Exercise 12:

Task specific guidance
Mark one essay using the grids N, O, C.2 and F.2.

If a candidate has written more than one essay mark both essays in the normal way but enter the mark for the essay which has earned most marks
over all.

20
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GRID N

0-2

3-4

7-8

9-10

Grid N guidance

Mark Scheme

RELEVANCE AND POINTS OF VIEW
10 marks AO2

The response to the task is likely to be very short
and/or irrelevant and/or very superficial.

Includes some relevant information but does not
always address the requirements of the task.
May have some difficulty in expressing points of
view and/or narrating events and/or
communicating factual information.

The information given is mainly relevant to the
task. Points of view and opinions are generally
supported by some factual evidence. May
demonstrate some originality and/or imagination.

Relevant information that responds to the
requirements of the task and is used to support
points of view and opinions. Produces an
imaginative and/or original response to the task.

Consistently relevant information that supports
points of view and opinions. Shows genuine
insight in responding to the task.

3—4 — No specific example from TL = cap 4

5-6 — Demonstration of originality and/or imagination — applies mainly to

imaginative

7-8 — Imaginative and/or original response to task — applies mainly to

imaginative

GRID O

0-2

3-5

6-9

10-12

13-15

Grid O guidance

June 2011

STRUCTURE AND ANALYSIS
15 marks AO2

Random organisation of the response. Limited
attempt to develop an argument, analyse and
evaluate, and draw conclusions.

Shows some ability to structure and organise the
response. Limited ability to develop an argument,
analyse and evaluate, and draw conclusions.

Structured and organised response. Points of view
are mostly linked in a logical sequence. Shows
some ability to develop an argument, analyse and
evaluate and draw conclusions.

Coherently structured and organised response.
Points of view are linked in a logical sequence.
Able to develop an argument, analyse and
evaluate, and draw conclusions.

The response displays genuine control and clarity. A
very well-developed argument. Confident ability to
develop an argument, analyse and evaluate, and
draw conclusions.

6-9 — Straight narration = more 6/7
Evidence of some argument = more 8/9

21
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Exercise 12 — Language (QWC) — Grids C.2 and F.2: [20 marks]

a. Read the whole response again and assess for Range (Grid F2) first — i.e. vocabulary and structures. Then assess for Accuracy (Grid C2).
Key words have been highlighted in the grids below. Ignore final sentence of 3-4 band in Grid C2, because vocabulary and structures have
already been assessed under Grid F2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier
to apply Grid C.2, but it is not essential. Enter your mark.

QUALITY OF LANGUAGE (ACCURACY) QUALITY OF LANGUAGE (RANGE)
GRID C.2 10 marks AO3 GRIDF-2 10 marks AO3

Little evidence of grammatical awareness. Persistent, serious
0-2 and elementary errors (endings, verb forms, gender of common 0-2
nouns). Frequent first language interference.

Only simple sentence patterns. Very limited vocabulary. Very
limited range of structures.

Evidence of gaps in basic grammar. Frequent errors of an
elementary kind (endings, verb forms, gender of common

3-4 nouns, adjectival agreements) but evidence of correct use of 34
simple sentence structures. Vocabulary and structures may be

Use of a restricted range of vocabulary and structures. Frequent
repetition of the same words and phrases. Some attempt (not
necessarily successful) at the use of more complex sentence

quite strongly influenced by the candidate’s first language. structures.
Shows evidence of fair understanding of grammatical usage. Attempts to extend the range of vocabulary, though still rather
5_6 Generally accurate use of simple sentence structures. Some 5_6 repetitive. Attempts to use more complex language with some

correct use of complex sentence structures. The performance success in producing a range of syntax and sentence structures
is likely to be patchy and inconsistent. appropriate to the task.

Language generally accurate. Shows a sound grasp of AS

andfor A2 structures, as appropriate. Generally correct use of Effective use of a range of vocabulary and structures appropriate

to the task, with little repetition. A positive attempt to introduce

7-8 | complex structures. Tenses and agreements good, although 7-8 ;
- ; - ' variety and to use a range of complex sentence structures (though
tahrgraesmay be some inconsistency and errors in more complex not always able to maintain correct usage).
Characterised by a high and consistent level of accuracy in Effecti . :
ective and confident use of a wide range of vocabulary and
9-10 g??o?; complex structures, although there may be some 9-10 | idiom with a variety of complex sentence structures.
Grid C.2 guidance Grid F.2 guidance
0-2 — Errors ([e.g.] endings, verb forms, gender of common nouns). 5-6 — [A range of] syntax and sentence structures appropriate to the [register of
Frequent first [= other] language interference. the] task.

3—4 — Errors ([e.g.] endings, verb forms, gender of common nouns, adjectival

agreements). o -
Candidate’s first [= other] language. -8 Efefgggvgasi?wd'
Meaning may be unclear; more wrong than right. 9-10 — idiom # iding

5-6 — Wrong/right = 50/50
7—-8 — More right than wrong.

22
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Transcripts of Listening Texts

Exercise 1

[SETTING: Conversation]
(One male voice + one female voice)

Eng: Exercise 1:
Advances in computer technology and their impact on people’s lives

(z) Jo= () (pmonmms

03,5 g g5l 15 Ladly i il 5 e

O g el gelogs g |l 4 e e LS lesl el ogasa a2

et s el (50 M g0y 0 iy o a8 ey 99 Jo] Jah o palits
3 g 4l i Iple Wl lal 50, g0 dnrlie pages Slaglae DES 45 2l o 5
S M Sl o

e e OV s L giaysi dee Su i S S e S R iz
Py o 9 850055 W0 gy Olpl § Saslgils gl SO, Sy ST

Ble etiin g0she ol cetn P e 0 S auedly sla 5 e Ll
LI I P LT L e

S ol g Al digi gu 0dipe lal o S go s i

fafl S 0 Loyl s o) 5o .jd.:.!‘;,md.._.p.:--ld.‘f.:....,i:.._..-}; cpl el iads 2 e

IS

Tegn S solial o) o) e oo I8 5,00 52 5

oS 35 Jhow 30 3 Slaiee] 53 9295 b S0l 1 pla gt | o o i Bl i
o | S e pag sl 4F po 5 iy Sl Cip] (0 5 pnigd gad gl

B gpe ol O A3 gl pom 00,5 figal 8 gpad s 5l Sed Geps e e i

lpads Jloedg judas  Ged ped I jalls amio gy, pnd pled g p2 )5 b
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Exercise 2

[SETTING: Conversation]
(One male voice + one female voice)

P =5l £l

Sy s oy Slaladl jl af s Jile pal 4 e atam o

lo maf fdisja fa iy et 1500 Slalal | 45 s S lle pol e i o

nmmsd S 0 308 a3 e SlaloSl g ALl A Al e A A g0 T A e )l Cues
10 4 ajlase A | e (gl g 4 08 Lyt 29 sl ol 2y el

oA ey 5 oS Sl 4 a5 g 4 py pyole () gy el o oo Ly i 2By i
e sl dy )

e el e goidedy pof S

S g Aad AT o) s G4 ST s, 3l s 4 el

o g8 T e

D8 sl g s el i les gl pos WS S0l g e s p ke il
hgma Jod a4 4 By iadly il Jloo a at pai 4 il gllas e e et ! e i 4
lontls gy jalane o pmtiome Ml po 350 20 330F it

adly o dolei laass atd 025 o S5 Ll ipdiles o e 055 e tales il

Jot S g 5 ol sl Ll oilye gl L Lole (9 joy 51 Lodims 1039 03 am

S gty

S e

Elp a5 Kol o ) aF dias lggs o Culis g o e 28, Wl Lo ) sogs a4
ol e e al 58 e aF allas e

A pn B valyls 1=lo 5l Cou g o 0

phoil alas po ppdds aF (g 15 8 4T o515 0 b gisdlaam cows galil ol lpie Cod e
sl ol ol y o il salil o
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